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Name: ___________________             Class: ___________ 

 

Subtraction word problems:  
Read and solve the subtraction problem. 
 

A zoo had 17 lions. 9 lions were transferred to another zoo. How 

many lions remain?  

17 - 9 = ____ 

 

Mini had 15 dolls. She gave 6 dolls to her friend. How many dolls 

does Mini have now?  

15 - 6 = ____ 

 

A bag contains 19 blocks. 9 blocks were used to build a tower. 

How many blocks are still in the bag?  

19 - 9 = ____ 

 

A vegetable shop had 11 pineapples. 5 pineapples were sold. How 

many pineapples are left?  

11 - 5 = ____ 
 


